

Computation of Retail Price based on July 2025 Data under Para 5 of DPCO, 2013

विषय : औषध (मूल्य नियंत्रण) आदेश, 2013 के अंतर्गत दवा Each 5 ml suspension contains: Bilastine IP 10 mg + Montelukast Sodium IP Eq. to Montelukast 4 mg Suspension for M/s Akums Drugs & Pharmaceuticals Ltd. (Manufacturer) & M/s Hetero Healthcare Ltd. (Marketer) की रिटेल कीमत निर्धारण (फाइल नंबर 5025)

Number of Companies consisting of Market Share of 1% & Above	13
Sum of MAT value considered for price calculation (in Lakhs)	1,391.97
Sum of PTR per unit considered for price calculation	19.68
Number of Packs considered	13
Average PTR	1.51
Add : 16% Retailer Margin	0.24
Retail Price (without local taxes)	1.75
% Reduction with compared to Highest Price	11.18%

Minimum Price (Rs.)	1.21
Maximum Price (Rs.)	1.70
Average of all considered (Rs.)	1.51
Retail Price (Rs.)	1.75

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	TOTAL MAT			100%	M3				
						Unit	PTR (Rs.)	MAT(Rs.)		SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per Unit (Rs.)	Price per Unit (Rs.) Considered
1	BILAZEST M KIDS 4/10 MG SUSPENSION 60 ML	BILAZEST M	ABBOTT HEALTHCARE PVT. LTD	4/10 MG	60	SUSPENSION	98.21	33,06,730.70	2.36%				1.64	1.64
2	PRULASTIN M 4/10 MG SUSPENSION 60 ML	PRULASTIN M	ALKEM LABORATORIES LTD.	4/10 MG	60	SUSPENSION	97.86	2,23,65,032.97	15.96%	15.96%	Y	1.63	1.63	
3	LASMA BL 4/10 MG SYRUP 60 ML	LASMA BL	APEX LABORATORIES LTD.	4/10 MG	60	SYRUP	90.22	18,68,997.52	1.33%	1.33%	Y	1.50	1.50	
4	ALLESTINE 4/10 MG SYRUP 60 ML	ALLESTINE	BIOLOGICAL E LTD	4/10 MG	60	SYRUP	86.18	21,16,925.52	1.51%	1.51%	Y	1.44	1.44	
5	BILACAD M 4/10 MG SYRUP 60 ML	BILACAD M	CADILA PHARMACEUTICALS LTD	4/10 MG	60	SYRUP	92.86	38,722.62	0.03%	0.03%	N	1.55		
6	ALLER DUO 10/4 MG SUSPENSION 60 ML	ALLER DUO	CENTAUR PHARMACEUTICALS PVT.LTD	10/4 MG	60	SUSPENSION	85.71	5,93,113.20	0.42%	0.42%	N	1.43		
7	BILENTOD M 4/10 MG SYRUP 60 ML	BILENTOD M	ENTOD PHARMACEUTICALS LTD	4/10 MG	60	SYRUP	96.43	15,80,487.70	1.13%	1.13%	Y	1.61	1.61	
8	BILAZAP M 4/10 MG SUSPENSION 60 ML	BILAZAP M	GLENMARK PHARMACEUTICALS LTD.	4/10 MG	60	SUSPENSION	102.14	3,90,33,343.89	27.85%	27.85%	Y	1.70	1.70	
9	BILATIS M 4/10 MG SUSPENSION 60 ML	BILATIS M	HEGDE & HEGDE	4/10 MG	60	SUSPENSION	90.00	1,30,36,016.82	9.30%	9.30%	Y	1.50	1.50	
10	BILTAL M 4/10 MG SUSPENSION 50 ML	BILTAL M	INDOCO REMEDIES LTD	4/10 MG	50	SUSPENSION	60.71	63,73,335.80	4.55%	4.55%	Y	1.21	1.21	
11	BILAMED-M 4/10 MG SUSPENSION 60 ML	BILAMED-M	MED MANOR ORGANICS PVT LTD.	4/10 MG	60	SUSPENSION	90.00	3,35,790.00	0.24%	0.24%	N	1.50		
12	BILKRO M 4/10 MG SYRUP 60 ML	BILKRO M	MEDLEY PHARMACEUTICALS	4/10 MG	60	SYRUP	82.07	23,36,040.48	1.67%	1.67%	Y	1.37	1.37	
13	BILAST M 4/10 MG SUSPENSION 60 ML	BILAST M	MICRO LABS LTD	4/10 MG	60	SUSPENSION	93.57	1,79,98,095.93	12.84%	12.84%	Y	1.56	1.56	
14	BILASURE M KID 4/10 MG SUSPENSION 60 ML	BILASURE M	SUN PHARMA LABORATORIES LTD.	4/10 MG	60	SUSPENSION	82.56	1,97,36,463.36	14.08%	14.08%	Y	1.38	1.38	
15	BILALIFE M 4/10 MG SUSPENSION 60 ML	BILALIFE M	WALTER BUSHNELL	4/10 MG	60	SUSPENSION	98.17	58,02,436.02	4.14%	4.14%	Y	1.64	1.64	
16	MAXSTINE M 4/10 MG SUSPENSION 60 ML	MAXSTINE M	ZUVENTUS HEALTHCARE LTD	4/10 MG	60	SUSPENSION	90.18	36,43,554.00	2.60%	2.60%	Y	1.50	1.50	

Rs. Per ML	
Worked out Retail Price	1.75 Excluding GST
Claim Price	2.15 Excluding GST
Proposed Retail Price	1.75 Excluding GST

विषय : औषध (मूल्य नियंत्रण) आदेश, 2013 के अंतर्गत दवा **Each film coated bilayer tablet contains: Empagliflozin 10 mg Metformin Hydrochloride (As Extended Release) IP 1000 mg Sitagliptin Phosphate Monohydrate IP Equivalent to Sitagliptin 100 mg for M/s Exemed Pharmaceuticals. (Manufacturer) & M/s Kollectcare Pvt. Ltd. (Marketer)** की रिटेल कीमत निर्धारण (फाइल नंबर 4921)

1	Manufacturer Name	M/s Exemed Pharmaceuticals.
2	Marketer Name	M/s Kollectcare Pvt. Ltd. (Applicant)
3	Date of Application	24.11.2025 (Complete Application on 23.01.2026)
4	Patented Component- I	Empagliflozin
5	Patent Holder	M/s Boehringer
6	License Holder	M/s Lupin, M/s Cipla, M/s Torrent
7	Date of Patent Expiry	March 2025
8	Patented Component - II	Sitagliptin
9	Patent Holder	M/s MSD Pharmaceuticals
10	License Holder	M/s Sun Pharma
11	Date of Patent Expiry	July 2022

Calculation of Retail Price of Each film coated bilayer tablet contains: Empagliflozin 10 mg Metformin Hydrochloride (As Extended Release) IP 1000 mg Sitagliptin Phosphate Monohydrate IP Equivalent to Sitagliptin 100 mg'

S.N.	Particulars	Data Month	Option-I Empagliflozin 10 mg + Metformin Hydrochloride IP 1000 mg (ER)	Option-II Sitagliptin 100 mg + Metformin Hydrochloride IP 1000 mg (ER)
A.	Retail price of FDC excluding Patent & License Holder	Jun-25	11.97	14.28
B.	Other Component excluding Patent & License Holder	Jun-25	11.97 (Sitagliptin 100mg)	8.29 (Empagliflozin 10 mg)
C.	Total		23.94	22.57
D.	Less: 20% of lower of A&B taking inference from the Pronab Sen Committee Report		2.39	1.66
E.	Worked out Price of applied FDC		21.55	20.91
F.	Claimed Price		14.22	14.22
G.	Proposed Price (Lower of Worked out and claimed price) per tablet			14.22

Computation of Retail Price based on June 2025 Data under Para 5 of DPCO, 2013

Empagliflozin 10mg	Number of Companies consisting of Market Share of 1% & Above					15
	Sum of MAT value considered for price calculation (in Lakhs)					388.60
	Sum of PTR per unit considered for price calculation					128.66
	Number of Packs considered					18
	Average PTR					7.15
	Add : 16% Retailer Margin					1.14
	Retail Price (without local taxes)					8.29
% Reduction with compared to Highest Price						44.40%

Minimum Price (Rs.)			3.52
Maximum Price (Rs.)			12.86
Average of all considered (Rs.)			7.15
Retail Price (Rs.)			8.29

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR (Rs.)	TOTAL MAT	100%	M3			
								4,00,57,378	SKU wise MAT %	Brandwise MAT (ignoring O% MAT)	Qualify (Y/N) Y=Yes N=No	Price per Unit (Rs.)	Price per Unit (Rs.) Considered
1	SULIEMPA 10 MG TABLET 10	SULIEMPA	AAREEN HEALTHCARE	10 MG	10	TABLET	99.29	11418	0.03%	0.03%	N	9.93	
2	EMPEXEL 10 MG TABLET 15	EMPEXEL	ABBOTT HEALTHCARE PVT. LTD	10 MG	15	TABLET	107.14	1043329	2.60%	2.60%	Y	7.14	7.14
3	EMPALO 10 MG TABLET 10	EMPALO	AJANTA PHARMA LTD	10 MG	10	TABLET	70.71	725131	1.81%	1.81%	Y	7.07	7.07
4	ALEMPA 10 MG TABLET 15	ALEMPA	ALTEUS BIOGENICS PVT.LTD.	10 MG	15	TABLET	79.5	94526	0.24%	0.24%	N	5.30	
5	EMPATROL 10 MG TABLET 10	EMPATROL	ARISTO PHARMACEUTICALS PVT.LTD	10 MG	10	TABLET	71.43	483795	1.21%	1.21%	Y	7.14	7.14
6	JARDIANCE 10 MG TABLET 10	JARDIANCE	BOEHRINGER INGELHEIM	10 MG	10	TABLET	307.5						
7	EMPADON 10 MG TABLET 10	EMPADON	CADILA PHARMACEUTICALS LTD	10 MG	10	TABLET	71.43	205004	0.51%	0.51%	N	7.14	
8	EMPASOV 10 MG TABLET 10	EMPASOV	CIPLA LTD.	10 MG	10	TABLET	64.21						
9	EMPABITE 10 MG TABLET 10	EMPABITE	CORONA	10 MG	10	TABLET	70.71	1239688	3.09%	3.09%	Y	7.07	7.07
10	VICRA 10 MG TABLET 10	VICRA	DR. REDDYS LABORATORIES LTD	10 MG	10	TABLET	128.57	701478	1.75%	1.75%	Y	12.86	12.86
11	EZYEMPA 10 MG TABLET 10	EZYEMPA	EDOC LIFE SCIENCES	10 MG	10	TABLET	60.71	13538	0.03%	0.03%	N	6.07	
12	ELIEMPA 10 MG TABLET 10	ELIEMPA	ELICAD PHARMACEUTICALS PVT LTD	10 MG	10	TABLET	42.14	23303	0.06%	0.06%	N	4.21	
13	EMPAJUST 10 MG TABLET 10	EMPAJUST	ERINYLE PHARMA	10 MG	10	TABLET	71.42	55136	0.14%	0.14%	N	7.14	
14	JARDIX 10 MG TABLET 10	JARDIX	ERIS LIFESCIENCES LTD	10 MG	10	TABLET	92.86	1676866	4.19%	4.19%	Y	9.29	9.29
15	GLEMPA 10 MG TABLET 10	GLEMPA	GLENMARK PHARMACEUTICALS LTD.	10 MG	10	TABLET	78.57	1041367	2.60%	2.60%	Y	7.86	7.86
16	EMPATRU 10 MG TABLET 10	EMPATRU	HBC LIFESCIENCES PVT LTD	10 MG	10	TABLET	63.57	123072	0.31%	0.31%	N	6.36	
17	EMPANEO 10 MG TABLET 10	EMPANEO	INTAS PHARMACEUTICALS LTD	10 MG	10	TABLET	70.71	4862302	12.14%	12.14%	Y	7.07	7.07
18	EMPHA 10 MG TABLET 10	EMPHA	INTAS PHARMACEUTICALS LTD	10 MG	10	TABLET	70.71	4364999	10.90%	10.90%	Y	7.07	7.07
19	EMNORM 10 MG TABLET 10	EMNORM	IPCA LABORATORIES PVT LTD.	10 MG	10	TABLET	85.71	272129	0.68%	0.68%	N	8.57	
20	EMPASHIELD 10 MG TABLET 10	EMPASHIELD	LA RENON HEALTHCARE PVT.LTD	10 MG	10	TABLET	70.71	1144441	2.86%	2.86%	Y	7.07	7.07
21	EMPADOZ 10 MG TABLET 10	EMPADOZ	LLOYD HEALTHCARE PVT.LTD	10 MG	10	TABLET	85.01	300425	0.75%	0.75%	N	8.50	
22	GIBTULIO 10 MG TABLET 10	GIBTULIO	LUPIN LTD	10 MG	10	TABLET	105						
23	EMPAHOPE 10 MG TABLET 10	EMPAHOPE	MACLEODS PHARMACEUTICALS PVT.L	10 MG	10	TABLET	35.22	651570	1.63%	1.63%	Y	3.52	3.52
24	EMPAJOY 10 MG TABLET 10	EMPAJOY	MACLEODS PHARMACEUTICALS PVT.L	10 MG	10	TABLET	35.22	873843	2.18%	2.18%	Y	3.52	3.52
25	EMPAGLYDE 10 MG TABLET 10	EMPAGLYDE	MANKIND PHARMACEUTICALS LTD.	10 MG	10	TABLET	39.21	1634665	4.08%	4.08%	Y	3.92	3.92
26	EMPAGREAT 10 MG TABLET 10	EMPAGREAT	MANKIND PHARMACEUTICALS LTD.	10 MG	10	TABLET	39.21	5022566	12.54%	12.54%	Y	3.92	3.92

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR (Rs.)	MAT(Rs.)	SKU wise MAT %	Brandwi se MAT (ignorin g O% MAT)	Qualify (Y/N) Y=Yes N=No	Price per Unit (Rs.)	Price per Unit (Rs.) Considered
27	EMPAPRO 10 MG TABLET 10	EMPAPRO	MICRO LABS LTD	10 MG	10	TABLET	77.14	974432	2.43%	2.43%	Y	7.71	7.71
28	EMPAONE 10 MG TABLET 10	EMPAONE	MSN LABORATORIES LTD	10 MG	10	TABLET	89.29	6624531	16.54%	16.54%	Y	8.93	8.93
29	EMPARIO 10 MG TABLET 10	EMPARIO	TALENT INDIA	10 MG	10	TABLET	70.72	51484	0.13%	0.13%	N	7.07	
30	EMPADOT 10 MG TABLET 10	EMPADOT	THREE DOTS LIFESCIENCE	10 MG	10	TABLET	85.71	34370	0.09%	0.09%	N	8.57	
31	COSPIAQ 10 MG TABLET 10	COSPIAQ	TORRENT PHARMACEUTICALS LTD.	10 MG	10	TABLET	69.29						
32	EMPAZIO 10 MG TABLET 10	EMPAZIO	TORRENT PHARMACEUTICALS LTD.	10 MG	10	TABLET	69.29						
33	EMPASON 10 MG TABLET 10	EMPASON	UNISON PHARMACEUTICALS	10 MG	10	TABLET	23.57	13388	0.03%	0.03%	N	2.36	
34	XENIA 10 MG TABLET 10	XENIA	USV PVT LTD	10 MG	10	TABLET	89.29	4324225	10.80%	10.80%	Y	8.93	8.93
35	EMPAGLYN 10 MG TABLET 10	EMPAGLYN	ZYDUS HEALTHCARE LTD.	10 MG	10	TABLET	85.71	1470355	3.67%	3.67%	Y	8.57	8.57
		Rs. Per tablet											
	Worked out Retail Price	8.29	Excluding GST										

Note: In view of DPCO Amendment Vide S.O. No. 2165(E) dated 11.05.2023, Patent Holder of Empagliflozin i.e. Boehringer Ingelheim and License Holder i.e. Cipla Ltd., Lupin Ltd. & Torrent Pharmaceuticals Ltd. have not been considered for price fixation.

Computation of Retail Price based on June 2025 Data under Para 5 of DPCO, 2013

Empagliflozin 10 mg + Metformin Hydrochloride 1000 mg	Number of Companies consisting of Market Share of 1% & Above								2
	Sum of MAT value considered for price calculation (in Lakhs)								5.19
	Sum of PTR per unit considered for price calculation								20.64
	Number of Packs considered								2
	Average PTR								10.32
	Add : 16% Retailer Margin								1.65
	Retail Price (without local taxes)								11.97
	% Reduction with compared to Highest Price								14.99%

Minimum Price (Rs.)			8.50
Maximum Price (Rs.)			12.14
Average of all considered (Rs.)			10.32
Retail Price (Rs.)			11.97

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	5,18,694	100%	M3			
								MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
1	EMPEXEL M SR 10/1000 MG TABLET 15	EMPEXEL M SR	ABBOTT HEALTHCARE PVT. LTD	10/1000 MG	15	TABLET	182.14	29689	5.72%	5.72%	Y	12.14	12.14
2	EMPANORM M 10/1000 MG TABLET 10	EMPANORM M	ALKEM LABORATORIES LTD.	10/1000 MG	10	TABLET	85	489005	94.28%	94.28%	Y	8.50	8.50
3	GIBTULIO MET 10/1000 MG TABLET XR 1	GIBTULIO MET	LUPIN LTD	10/1000 MG	10	TABLET XR	107.14						
		Rs. Per Tablet											
	Worked out Retail Price	11.97	Excluding GST										

Note: In view of DPCO Amendment Vide S.O. No. 2165(E) dated 11.05.2023, License Holder of Empagliflozin i.e. Lupin Ltd. has not been considered for price fixation.

Computation of Retail Price based on June 2025 Data under Para 5 of DPCO, 2013

Sitagliptin 100mg	Number of Companies consisting of Market Share of 1% & Above												22	
	Sum of MAT value considered for price calculation (in Lakhs)													7,693.94
	Sum of PTR per unit considered for price calculation													268.39
	Number of Packs considered													26
	Average PTR													10.32
	Add : 16% Retailer Margin													1.65
	Retail Price (without local taxes)													11.97
% Reduction with compared to Highest Price													28.48%	

Minimum Price (Rs.)				5.64
Maximum Price (Rs.)				14.43
Average of all considered (Rs.)				10.32
Retail Price (Rs.)				11.97

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	87,64,69,741	100%	M3			
								MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
1	VOXYTA 100 MG TABLET 15	VOXYTA	AAGAM LIFE SCIENCES PVT.LTD	100 MG	15	TABLET	192.86	434514	0.05%	0.05%	N	12.86	
2	JANUVIA 100 MG TABLET 7	JANUVIA*	MSD PHARMACEUTICALS PRIVATE LTD.	100 MG	7	TABLET	210.71						
3	SIAGLIDE 100 MG TABLET 15	SIAGLIDE	ABBOTT HEALTHCARE PVT. LTD	100 MG	15	TABLET	216.5	33323019	3.80%	3.80%	Y	14.43	14.43
4	DARTSITA 100 MG TABLET 10	DARTSITA	ADDII BIOTECH PVT.LTD	100 MG	10	TABLET	92.46	197679	0.02%	0.02%	N	9.25	
5	SITAMAX 100 MG TABLET 10	SITAMAX	AJANTA PHARMA LTD	100 MG	10	TABLET	110.36	7198342	0.82%	0.82%	N	11.04	
6	SITAPRIL 100 MG TABLET 10	SITAPRIL	AJANTA PHARMA LTD	100 MG	10	TABLET	67.03	286912	0.03%	0.03%	N	6.70	
7	SITAPAZ 100 MG TABLET 10	SITAPAZ	AKESSIS PHARMA (P) LTD	100 MG	10	TABLET	92.14	1717766	0.20%	0.20%	N	9.21	
8	SITALEMBIC 100 MG TABLET 15	SITALEMBIC	ALEMBIC LTD	100 MG	15	TABLET	163.22	21092237	2.41%	2.41%	Y	10.88	10.88
9	ALSITA 100 MG TABLET 10	ALSITA	ALKEM LABORATORIES LTD.	100 MG	10	TABLET	84.29	38596039	4.40%	4.40%	Y	8.43	8.43
10	SITALIVE 100 MG TABLET 10	SITALIVE	ALLYSIA LIFESCIENCES PVT.LTD	100 MG	10	TABLET	107.14	638019	0.07%	0.07%	N	10.71	
11	SITALONG 100 MG TABLET 15	SITALONG	ALTEUS BIOGENICS PVT.LTD.	100 MG	15	TABLET	150	3519600	0.40%	0.40%	N	10.00	
12	SITAGLIP 100 MG TABLET 10	SITAGLIP	ANTHEM BIOPHARMA PVT LTD	100 MG	10	TABLET	107.14	3402124	0.39%	0.39%	N	10.71	
13	SIDIA 100 MG TABLET 10	SIDIA	APRICA HEALTHCARE PVT LTD	100 MG	10	TABLET	117.86	5130210	0.59%	0.59%	N	11.79	
14	SITAGLO 100 MG TABLET 15	SITAGLO	ARISTO PHARMACEUTICALS PVT.LTD	100 MG	15	TABLET	171.43	38324719	4.37%	4.37%	Y	11.43	11.43
15	SITABETIC 100 MG TABLET 15	SITABETIC	ARKAS PHARMA PRIVATE LIMITED	100 MG	15	TABLET	170.67	370183	0.04%	0.04%	N	11.38	
16	SITABEND 100 MG TABLET 10	SITABEND	BAL PHARMA	100 MG	10	TABLET	94.29	45987	0.01%	0.01%	N	9.43	
17	KYGLIP 100 MG TABLET 15	KYGLIP	BLUE CROSS LABORATORIES LTD	100 MG	15	TABLET	64.29	463917	0.05%	0.05%	N	4.29	
18	SITAPIL 100 MG TABLET 10	SITAPIL	CADELL HEALTH CARE PVT.LTD	100 MG	10	TABLET	142.14	283427	0.03%	0.03%	N	14.21	
19	SITENALI 100 MG TABLET 15	SITENALI	CADILA PHARMACEUTICALS LTD	100 MG	15	TABLET	158.36	819671	0.09%	0.09%	N	10.56	
20	JANKEY 100 MG TABLET 15	JANKEY	CADILA PHARMACEUTICALS LTD	100 MG	15	TABLET	158.36	1253419	0.14%	0.14%	N	10.56	
21	SITACIP 100 MG TABLET 10	SITACIP	CIPLA LTD.	100 MG	10	TABLET	101.36	33372107	3.81%	3.81%	Y	10.14	10.14
22	SITABITE 100 MG TABLET 10	SITABITE	CORONA	100 MG	10	TABLET	85.54	29256181	3.34%	3.34%	Y	8.55	8.55
23	STIG 100 MG TABLET 15	STIG	DR. REDDYS LABORATORIES LTD	100 MG	15	TABLET	142.5	12973775	1.48%	1.48%	Y	9.50	9.50
24	SITABET 100 MG TABLET 7	SITABET	EAST WEST PHARMA	100 MG	7	TABLET	88	244288	0.03%	0.03%	N	12.57	
25	SITASTAR 100 MG TABLET 7	SITASTAR	EKARD LIFE SCIENCES PVT.LTD	100 MG	7	TABLET	60	256800	0.03%	0.03%	N	8.57	
26	SITADOC 100 MG TABLET 15	SITADOC	ELBRIT LIFE SCIENCES PVT.LTD	100 MG	15	TABLET	150	2061150	0.24%	0.24%	N	10.00	

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
27	SITADYL 100 MG TABLET 10	SITADYL	ELINOR PHARMA	100 MG	10	TABLET	135.71	2140182	0.24%	0.24%	N	13.57	
28	EMSITA 100 MG TABLET 10	EMSITA	EMCURE PHARMACEUTICALS LTD	100 MG	10	TABLET	117.64	13366022	1.52%	1.52%	Y	11.76	11.76
29	SITASHINE 100 MG TABLET 10	SITASHINE	ERINYLE PHARMA	100 MG	10	TABLET	107.14	9499568	1.08%	1.08%	Y	10.71	10.71
30	GLURA 100 MG TABLET 10	GLURA	ERIS LIFESCIENCES LTD	100 MG	10	TABLET	129.52	37150557	4.24%	4.24%	Y	12.95	12.95
31	SITARITE 100 MG TABLET 7	SITARITE	ESWAR THERAPEUTICS PVT.LTD	100 MG	7	TABLET	81.43	2915927	0.33%	0.33%	N	11.63	
32	SITDC 100 MG TABLET 10	SITDC	FDC LTD.	100 MG	10	TABLET	67.86	1436936	0.16%	0.16%	N	6.79	
33	SITGLYPT 100 MG TABLET 15	SITGLYPT	FINECURE PHARMACEUTICALS	100 MG	15	TABLET	95.36	410429	0.05%	0.05%	N	6.36	
34	CTASORIN 100 MG TABLET 10	CTASORIN	FUSION HEALTHCARE PVT LTD	100 MG	10	TABLET	99.29	2208408	0.25%	0.25%	N	9.93	
35	SITAGIX 100 MG TABLET 10	SITAGIX	FUSION HEALTHCARE PVT LTD	100 MG	10	TABLET	99.29	5957	0.00%	0.00%	N	9.93	
36	ISTAGLAD 100 MG TABLET 10	ISTAGLAD	GENIEMED PVT LTD	100 MG	10	TABLET	106.43	1707238	0.19%	0.19%	N	10.64	
37	SITAZIT 100 MG TABLET 10	SITAZIT	GLENMARK PHARMACEUTICALS LTD.	100 MG	10	TABLET	113.22	19224982	2.19%	2.19%	Y	11.32	11.32
38	QSITA 100 MG TABLET 10	QSITA	HBC LIFESCIENCES PVT LTD	100 MG	10	TABLET	69.14	17921291	2.04%	2.04%	Y	6.91	6.91
39	SITASMART 100 MG TABLET 10	SITASMART	HEALING PHARMA INDIA PVT.LTD	100 MG	10	TABLET	68.35	3534925	0.40%	0.40%	N	6.84	
40	SITOZA 100 MG TABLET 10	SITOZA	HETERO HEALTHCARE LTD	100 MG	10	TABLET	82.14	1609040	0.18%	0.18%	N	8.21	
41	SPIKERID 100 MG TABLET 10	SPIKERID	INDCHEMIE HEALTH SPECIALITIES PVT. LTD.	100 MG	10	TABLET	77.14	377755	0.04%	0.04%	N	7.71	
42	SITARA 100 MG TABLET 10	SITARA	INTAS PHARMACEUTICALS LTD	100 MG	10	TABLET	116.25	76177263	8.69%	8.69%	Y	11.63	11.63
43	IGNALIS 100 MG TABLET 10	IGNALIS	INTAS PHARMACEUTICALS LTD	100 MG	10	TABLET	116.25	17074770	1.95%	1.95%	Y	11.63	11.63
44	SUITGLIP 100 MG TABLET 10	SUITGLIP	IPCA LABORATORIES PVT LTD.	100 MG	10	TABLET	94.25	5056230	0.58%	0.58%	N	9.43	
45	JSITA 100 MG TABLET 10	JSITA	JARUN PHARMACEUTICALS	100 MG	10	TABLET	92.14	1253565	0.14%	0.14%	N	9.21	
46	SITACOSE 100 MG TABLET 10	SITACOSE	JB CHEMICALS	100 MG	10	TABLET	85.72	375111	0.04%	0.04%	N	8.57	
47	SITAHENZ 100 MG TABLET 10	SITAHENZ	LA RENON HEALTHCARE PVT.LTD	100 MG	10	TABLET	115.71	38613353	4.41%	4.41%	Y	11.57	11.57
48	SITADUS 100 MG TABLET 10	SITADUS	LIVIDUS PHARMA PVT LTD	100 MG	10	TABLET	100	2789100	0.32%	0.32%	N	10.00	
49	SUGARAY 100 MG TABLET 15	SUGARAY	LLOYD HEALTHCARE PVT.LTD	100 MG	15	TABLET	140.22	8783824	1.00%	1.00%	Y	9.35	9.35
50	LUPISIT 100 MG TABLET 10	LUPISIT	LUPIN LTD	100 MG	10	TABLET	94.25	34667883	3.96%	3.96%	Y	9.43	9.43
51	MACSITA 100 MG TABLET 10	MACSITA	MACLEODS PHARMACEUTICALS PVT.LTD	100 MG	10	TABLET	91.43	16753967	1.91%	1.91%	Y	9.14	9.14
52	SITA OD 100 MG TABLET 10	SITA OD	MACLEODS PHARMACEUTICALS PVT.LTD	100 MG	10	TABLET	91.43	34092065	3.89%	3.89%	Y	9.14	9.14
53	SITACLASS 100 MG TABLET 10	SITACLASS	MACLEODS PHARMACEUTICALS PVT.LTD	100 MG	10	TABLET	83.29	3993756	0.46%	0.46%	N	8.33	
54	SITADAY 100 MG TABLET 15	SITADAY	MANKIND PHARMACEUTICALS LTD.	100 MG	15	TABLET	167.36	47471741	5.42%	5.42%	Y	11.16	11.16
55	GLIPTAGREAT SITA 100 MG TABLET 15	GLIPTAGREAT S	MANKIND PHARMACEUTICALS LTD.	100 MG	15	TABLET	167.36	3180	0.00%	0.00%	N	11.16	
56	SITABLESS 100 MG TABLET 15	SITABLESS	MANKIND PHARMACEUTICALS LTD.	100 MG	15	TABLET	163.82	1007329	0.11%	0.11%	N	10.92	
57	CORSITA 100 MG TABLET 10	CORSITA	MEDLEY PHARMACEUTICALS	100 MG	10	TABLET	100.71	3216272	0.37%	0.37%	N	10.07	
58	JOGSITA 100 MG TABLET 10	JOGSITA	MEDOPHARM	100 MG	10	TABLET	110.71	46277	0.01%	0.01%	N	11.07	
59	SITAPRIDE 100 MG TABLET 15	SITAPRIDE	MICRO LABS LTD	100 MG	15	TABLET	127.86	27393877	3.13%	3.13%	Y	8.52	8.52
60	SITANORM 100 MG TABLET 15	SITANORM	MICRO LABS LTD	100 MG	15	TABLET	127.86	16072002	1.83%	1.83%	Y	8.52	8.52
61	SITA (MSN) 100 MG TABLET 10	SITA (MSN)	MSN LABORATORIES LTD	100 MG	10	TABLET	99.29	651641	0.07%	0.07%	N	9.93	
62	SITANAT 100 MG TABLET 10	SITANAT	NATCO PHARMA LTD	100 MG	10	TABLET	113.57	3101483	0.35%	0.35%	N	11.36	
63	SITANEU 100 MG TABLET 15	SITANEU	NEUCURE LIFESCIENCES PVT.LTD	100 MG	15	TABLET	175.61	3199263	0.37%	0.37%	N	11.71	
64	SITEOS 100 MG TABLET 10	SITEOS	NIRVANA HEALTH CARE	100 MG	10	TABLET	85.71	547687	0.06%	0.06%	N	8.57	
65	ZEUSIT 100 MG TABLET 10	ZEUSIT	OPSISCARE LIFESCIENCE PVT LTD	100 MG	10	TABLET	142.86	1008592	0.12%	0.12%	N	14.29	
66	SITOHHA 100 MG TABLET 10	SITOHHA	ORRIS PHARMACEUTICALS	100 MG	10	TABLET	107.14	58391	0.01%	0.01%	N	10.71	
67	GLIPCRIN 100 MG TABLET 15	GLIPCRIN	PRIMUS REMEDIES PVT LTD	100 MG	15	TABLET	145.89	1780296	0.20%	0.20%	N	9.73	
68	SITASPEC 100 MG TABLET 7	SITASPEC	SPECTRA THERAPEUTICS PVT. LTD.	100 MG	7	TABLET	78.58	2610428	0.30%	0.30%	N	11.23	
69	ISTAVEL 100 MG TABLET 7	ISTAVEL	SUN PHARMA LABORATORIES LTD.	100 MG	7	TABLET	72.86						
70	ISTAVEL 100 MG TABLET 10	ISTAVEL	SUN PHARMA LABORATORIES LTD.	100 MG	10	TABLET	111.43						

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
71	SITARED 100 MG TABLET 7	SITARED	SUN PHARMA LABORATORIES LTD.	100 MG	7	TABLET	71						
72	SITARED 100 MG TABLET 10	SITARED	SUN PHARMA LABORATORIES LTD.	100 MG	10	TABLET	71						
73	SITABERY 100 MG TABLET 10	SITABERY	SUNBERRY LIFESCIENCES PVT.LTD	100 MG	10	TABLET	57.14	603131	0.07%	0.07%	N	5.71	
74	SITASYS 100 MG TABLET 10	SITASYS	SYSTOPIC LABORATORIES LTD-MEM	100 MG	10	TABLET	56.43	16743063	1.91%	1.91%	Y	5.64	5.64
75	SITALENT 100 MG TABLET 10	SITALENT	TALENT INDIA	100 MG	10	TABLET	99.29	1596774	0.18%	0.18%	N	9.93	
76	SITABEST 100 MG TABLET 10	SITABEST	TAS MED (INDIA) PRIVATE LTD.	100 MG	10	TABLET	102.14	772702	0.09%	0.09%	N	10.21	
77	STALIX 100 MG TABLET 15	STALIX	TORRENT PHARMACEUTICALS LTD.	100 MG	15	TABLET	179.29	42578712	4.86%	4.86%	Y	11.95	11.95
78	SITAXA 100 MG TABLET 15	SITAXA	TORRENT PHARMACEUTICALS LTD.	100 MG	15	TABLET	179.29	73621207	8.40%	8.40%	Y	11.95	11.95
79	SITASON 100 MG TABLET 10	SITASON	UNISON PHARMACEUTICALS	100 MG	10	TABLET	46.43	7202779	0.82%	0.82%	N	4.64	
80	JUAMET 100 MG TABLET 15	JUAMET	VASUCHEM LIFESCIENCES PVT LTD	100 MG	15	TABLET	150	2487000	0.28%	0.28%	N	10.00	
81	SITARON 100 MG TABLET 10	SITARON	WALRON HEALTHCARE PVT.LTD	100 MG	10	TABLET	91.43	3206816	0.37%	0.37%	N	9.14	
82	SITAWOK 100 MG TABLET 15	SITAWOK	WOCKHARDT LTD	100 MG	15	TABLET	94.14	5134396	0.59%	0.59%	N	6.28	
83	SITASAR 100 MG TABLET 10	SITASAR	WONSET HEALTH CARE PRIVATE LIMITED	100 MG	10	TABLET	92.86	1587906	0.18%	0.18%	N	9.29	
84	SITAIN 100 MG TABLET 10	SITAIN	XENA CORONUS HEALTH CARE PVT.LTD	100 MG	10	TABLET	106.43	26395	0.00%	0.00%	N	10.64	
85	ZENSITA 100 MG TABLET 10	ZENSITA	ZUVENTUS HEALTHCARE LTD	100 MG	10	TABLET	101.64	5991881	0.68%	0.68%	N	10.16	
86	SIGLYN 100 MG TABLET 10	SIGLYN	ZYDUS HEALTHCARE LTD.	100 MG	10	TABLET	117.5	3096478	0.35%	0.35%	N	11.75	
87	SITAGLYN 100 MG TABLET 10	SITAGLYN	ZYDUS HEALTHCARE LTD.	100 MG	10	TABLET	117.5	15249855	1.74%	1.74%	Y	11.75	11.75
		Rs. Per Tablet											
	Worked out Retail Price	11.97	Excluding GST										

Note: In view of DPCO Amendment Vide S.O. No. 2165(E) dated 11.05.2023, Patent Holder of Sitagliptin i.e. MSD Pharmaceuticals & License holder i.e. Sun Pharma have not been considered for price fixation.

* This brand has been reported in the name of M/s Abbott Healthcare by Pharmarack in Dec-25 database. However, Form-V in respect of said brand is being filed by MSD Pharmaceuticals Pvt. Ltd. which is the patent holder of Sitagliptin. Therefore, said brand has not been considered for price fixation.

Computation of Retail Price based on June 2025 Data under Para 5 of DPCO, 2013

Sitagliptin 100 mg + Metformin Hydrochloride 1000 mg	Number of Companies consisting of Market Share of 1% & Above					18
	Sum of MAT value considered for price calculation (in Lakhs)					3,612.16
	Sum of PTR per unit considered for price calculation					295.46
	Number of Packs considered					24
	Average PTR					12.31
	Add : 16% Retailer Margin					1.97
	Retail Price (without local taxes)					14.28
	% Reduction with compared to Highest Price					28.10%

Minimum Price (Rs.)			9.93
Maximum Price (Rs.)			17.12
Average of all considered (Rs.)			12.31
Retail Price (Rs.)			14.28

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	37,05,72,501		100%		M3	
								MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
1	JANUMET XR CP 100/1000 MG TABLET 14	JANUMET XR CP*	MSD PHARMACEUTICALS PRIVATE LTD.	100/1000 MG	14	TABLET	221.43						
2	SIAGLIDE M OD 100/1000 MG TABLET 15	SIAGLIDE M	ABBOTT HEALTHCARE PVT. LTD	100/1000 MG	15	TABLET	256.81	28345444	7.65%	7.65%	Y	17.12	17.12
3	ACSITA M 100/1000 MG TABLET SR 10	ACSITA M	ACMEDIX PHARMA LLP	100/1000 MG	10	TABLET SR	63.57	177615	0.05%	0.05%	N	6.36	
4	ACOSITA M 100/1000 MG TABLET SR 10	ACOSITA M	ACMEDIX PHARMA LLP	100/1000 MG	10	TABLET SR	63.57	230314	0.06%	0.06%	N	6.36	
5	SITAMAX M 100/1000 MG TABLET 10	SITAMAX M	AJANTA PHARMA LTD	100/1000 MG	10	TABLET	106.43	22137	0.01%	0.01%	N	10.64	
6	SITALEMBIC M 100/1000 MG TABLET SR 15	SITALEMBIC M	ALEMBIC LTD	100/1000 MG	15	TABLET SR	176	10447965	2.82%	2.82%	Y	11.73	11.73
7	ALSITA M FORTE 100/1000 MG TABLET 10	ALSITA M	ALKEM LABORATORIES LTD.	100/1000 MG	10	TABLET	119.29	17724002	4.78%	4.78%	Y	11.93	11.93
8	SIDIAMET FORTE 100/1000 MG TABLET XR 15	SIDIAMET	APRICA HEALTHCARE PVT LTD	100/1000 MG	15	TABLET XR	188.57	1020352	0.28%	0.28%	N	12.57	
9	SITAGLO MSR FORTE 100/1000 MG TABLET 15	SITAGLO MSR	ARISTO PHARMACEUTICALS PVT.LTD	100/1000 MG	15	TABLET	148.93	8891270	2.40%	2.40%	Y	9.93	9.93
10	SITAGLO M FORTE 100/1000 MG TABLET 15	SITAGLO M	ARISTO PHARMACEUTICALS PVT.LTD	100/1000 MG	15	TABLET	148.93	4720038	1.27%	1.27%	Y	9.93	9.93
11	SITACIP M 100/1000 MG TABLET 10	SITACIP M	CIPLA LTD.	100/1000 MG	10	TABLET	124.93	19620023	5.29%	5.29%	Y	12.49	12.49
12	SITABITE M 100/1000 MG TABLET SR 10	SITABITE M	CORONA	100/1000 MG	10	TABLET SR	124.93	6038991	1.63%	1.63%	Y	12.49	12.49
13	EMSITA M 100/1000 MG TABLET SR 10	EMSITA M	EMCURE PHARMACEUTICALS LTD	100/1000 MG	10	TABLET SR	149.07	6776573	1.83%	1.83%	Y	14.91	14.91
14	GLURA M FORTE 100/1000 MG TABLET XR 15	GLURA M	ERIS LIFESCIENCES LTD	100/1000 MG	15	TABLET XR	180	16671844	4.50%	4.50%	Y	12.00	12.00
15	CTASORIN M FORTE 100/1000 MG TABLET 10	CTASORIN M	FUSION HEALTHCARE PVT LTD	100/1000 MG	10	TABLET	113.57	1214891	0.33%	0.33%	N	11.36	
16	SITAZIT M 100/1000 MG TABLET ER 10	SITAZIT M	GLENMARK PHARMACEUTICALS LTD.	100/1000 MG	10	TABLET ER	155.71	14629889	3.95%	3.95%	Y	15.57	15.57
17	QSITA M 100/1000 MG TABLET SR 10	QSITA M	HBC LIFESCIENCES PVT LTD	100/1000 MG	10	TABLET SR	85.71	1192826	0.32%	0.63%	N	8.57	
18	QSITA M 100/1000 MG TABLET 15	QSITA M	HBC LIFESCIENCES PVT LTD	100/1000 MG	15	TABLET	141.43	1141906	0.31%	0.63%	N	9.43	
19	SITARA-M 100/1000 MG TABLET 10	SITARA-M	INTAS PHARMACEUTICALS LTD	100/1000 MG	10	TABLET	128.39	35202606	9.50%	9.50%	Y	12.84	12.84
20	IGNALIS M 100/1000 MG TABLET 10	IGNALIS M	INTAS PHARMACEUTICALS LTD	100/1000 MG	10	TABLET	128.39	14748053	3.98%	3.98%	Y	12.84	12.84
21	SUITGLIP M 100/1000 MG TABLET XR 10	SUITGLIP M	IPCA LABORATORIES PVT LTD.	100/1000 MG	10	TABLET XR	113.9	4258265	1.15%	1.15%	Y	11.39	11.39
22	SITAHENZ M OD 100/1000 MG TABLET 10	SITAHENZ M OD	LA RENON HEALTHCARE PVT.LTD	100/1000 MG	10	TABLET	155	36114535	9.75%	9.75%	Y	15.50	15.50
23	SUGARAY M 100/1000 MG TABLET SR 15	SUGARAY M	LLOYD HEALTHCARE PVT.LTD	100/1000 MG	15	TABLET SR	170.37	5549292	1.50%	1.50%	Y	11.36	11.36
24	LUPISIT M 100/1000 MG TABLET XR 10	LUPISIT M	LUPIN LTD	100/1000 MG	10	TABLET XR	113.93	12834748	3.46%	3.46%	Y	11.39	11.39
25	MACSITA M 100/1000 MG TABLET 10	MACSITA M	MACLEODS PHARMACEUTICALS PVT.LTD	100/1000 MG	10	TABLET	102.86	237812	0.06%	1.72%	Y	10.29	10.29
26	SITA OD MSR 100/1000 MG TABLET 10	SITA OD MSR	MACLEODS PHARMACEUTICALS PVT.LTD	100/1000 MG	10	TABLET	102.86	6423607	1.73%	1.73%	Y	10.29	10.29
27	MACSITA M 100/1000 MG TABLET XR 10	MACSITA M	MACLEODS PHARMACEUTICALS PVT.LTD	100/1000 MG	10	TABLET XR	102.86	6146708	1.66%	1.72%	Y	10.29	10.29
28	SITACCLASS M 100/1000 MG TABLET 10	SITACCLASS M	MACLEODS PHARMACEUTICALS PVT.LTD	100/1000 MG	10	TABLET	102.86	233698	0.06%	0.06%	N	10.29	
29	SITABLESS MXR 100/1000 MG TABLET XR 15	SITABLESS MXR	MANKIND PHARMACEUTICALS LTD.	100/1000 MG	15	TABLET XR	159	252492	0.07%	0.07%	N	10.60	
30	SITADAY M XR 100/1000 MG TABLET 15	SITADAY M XR	MANKIND PHARMACEUTICALS LTD.	100/1000 MG	15	TABLET	159	1240200	0.33%	0.33%	N	10.60	
31	CORSITA M 100/1000 MG TABLET 10	CORSITA M	MEDLEY PHARMACEUTICALS	100/1000 MG	10	TABLET	104.29	102100	0.03%	0.03%	N	10.43	
32	SITAPRIDE M 100/1000 MG TABLET 15	SITAPRIDE M	MICRO LABS LTD	100/1000 MG	15	TABLET	149.29	23236242	6.27%	6.27%	Y	9.95	9.95

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
33	SITANORM M 100/1000 MG TABLET 15	SITANORM M	MICRO LABS LTD	100/1000 MG	15	TABLET	149.29	7588709	2.05%	2.05%	Y	9.95	9.95
34	SITA M 100/1000 MG TABLET 10	SITA M	MSN LABORATORIES LTD	100/1000 MG	10	TABLET	81.57	113448	0.03%	0.03%	N	8.16	
35	ISTAMET XR CP 100/1000 MG TABLET 14	ISTAMET XR CP	SUN PHARMA LABORATORIES LTD.	100/1000 MG	14	TABLET	124.29						
36	SITARED M 100/1000 MG TABLET XR 10	SITARED M	SUN PHARMA LABORATORIES LTD.	100/1000 MG	10	TABLET XR	101.43						
37	ISTAMET XR 100/1000 MG TABLET ER 10	ISTAMET XR	SUN PHARMA LABORATORIES LTD.	100/1000 MG	10	TABLET ER	124.29						
38	STALIX M 100/1000 MG TABLET XR 10	STALIX M	TORRENT PHARMACEUTICALS LTD.	100/1000 MG	10	TABLET XR	132.86	25734593	6.94%	6.94%	Y	13.29	13.29
39	SITAXA M 100/1000 MG TABLET XR 10	SITAXA M	TORRENT PHARMACEUTICALS LTD.	100/1000 MG	10	TABLET XR	132.86	40563391	10.95%	10.95%	Y	13.29	13.29
40	SITARON M 100/1000 MG TABLET XR 10	SITARON M	WALRON HEALTHCARE PVT.LTD	100/1000 MG	10	TABLET XR	120.71	455680	0.12%	0.12%	N	12.07	
41	SITAWOK M 100/1000 MG TABLET XR 15	SITAWOK M	WOCKHARDT LTD	100/1000 MG	15	TABLET XR	139.19	528644	0.14%	0.14%	N	9.28	
42	SIGLYN M 100/1000 MG TABLET ER 10	SIGLYN M	ZYDUS HEALTHCARE LTD.	100/1000 MG	10	TABLET ER	133.57	1246742	0.34%	0.39%	N	13.36	
43	SITAGLYN M 100/1000 MG TABLET 10	SITAGLYN M	ZYDUS HEALTHCARE LTD.	100/1000 MG	10	TABLET	146.93	8711596	2.35%	2.35%	Y	14.69	14.69
44	SIGLYN M 100/1000 MG TABLET 10	SIGLYN M	ZYDUS HEALTHCARE LTD.	100/1000 MG	10	TABLET	133.57	183258	0.05%	0.39%	N	13.36	
		Rs. Per Tablet											
	Worked out Retail Price	14.28	Excluding GST										

Note: In view of DPCO Amendment Vide S.O. No. 2165(E) dated 11.05.2023, Patent Holder of Sitagliptin i.e. MSD Pharmaceuticals & License holder i.e. Sun Pharma have not been considered for price fixation.

* This brand has been reported in the name of M/s Abbott Healthcare by Pharmarack in Dec-25 database. However, Form-V in respect of said brand is being filed by MSD Pharmaceuticals Pvt. Ltd. which is the patent holder of Sitagliptin. Therefore, said brand has not been considered for price fixation.

विषय : औषध (मूल्य नियंत्रण) आदेश, 2013 के अंतर्गत दवा **Each film coated bilayer tablet contains: Sitagliptin Phosphate Monohydrate IP Equivalent to Sitagliptin 100 mg Metformin Hydrochloride (As Extended-Release) IP 1000 mg Empagliflozin 25 mg for M/s Exemed Pharmaceuticals. (Manufacturer) & M/s Kollectcare Pvt. Ltd. (Marketer) की रिटेल कीमत निर्धारण (फाइल नंबर 4922)**

1	Manufacturer Name	M/s Exemed Pharmaceuticals.
2	Marketer Name	M/s Kollectcare Pvt. Ltd. (Applicant)
3	Date of Application	24.11.2025 (Complete Application on 23.01.2026)
4	Patented Component- I	Empagliflozin
5	Patent Holder	M/s Boehringer
6	License Holder	M/s Lupin, M/s Cipla, M/s Torrent
7	Date of Patent Expiry	March 2025
8	Patented Component - II	Sitagliptin
9	Patent Holder	M/s MSD Pharmaceuticals
10	License Holder	M/s Sun Pharma
11	Date of Patent Expiry	July 2022

Calculation of Retail Price of 'Each film coated bilayer tablet contains: Sitagliptin Phosphate Monohydrate IP Equivalent to Sitagliptin 100 mg Metformin Hydrochloride (As Extended Release) IP 1000 mg Empagliflozin 25 mg'

S.N.	Particulars	Data Month	Option-I Empagliflozin 25 mg + Metformin Hydrochloride IP 1000 mg (ER)	Option-II Sitagliptin 100 mg + Metformin Hydrochloride IP 1000 mg (ER)
A.	Retail price of FDC excluding Patent & License Holder	Jun-25	13.85	14.28
B.	Other Component excluding Patent & License Holder	Jun-25	11.97	10.54
			(Sitagliptin 100mg)	(Empagliflozin 25 mg)
C.	Total		25.82	24.82
D.	Less: 20% of lower of A&B taking inference from the Pronab Sen Committee Report		2.39	2.11
E.	Worked out Price of applied FDC		23.43	22.71
F.	Claimed Price		16.36	16.36
G.	Proposed Price (Lower of Worked out and claimed price) per tablet			16.36

Computation of Retail Price based on June 2025 Data under Para 5 of DPCO, 2013

Empagliflozin 25mg	Number of Companies consisting of Market Share of 1% & Above				16
	Sum of MAT value considered for price calculation (in Lakhs)				570.18
	Sum of PTR per unit considered for price calculation				172.72
	Number of Packs considered				19
	Average PTR				9.09
	Add : 16% Retailer Margin				1.45
	Retail Price (without local taxes)				10.54
	% Reduction with compared to Highest Price				25.12%

Minimum Price (Rs.)		6.61
Maximum Price (Rs.)		12.14
Average of all considered (Rs.)		9.09
Retail Price (Rs.)		10.54

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR (Rs.)	TOTAL MAT	5,92,64,452	100%	M3		
								MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring O% MAT)	Qualify (Y/N) Y=Yes N=No	Price per Unit (Rs.)	Price per Unit (Rs.) Considered
1	SULIEMPA 25 MG TABLET 10	SULIEMPA	AAREEN HEALTHCARE	25 MG	10	TABLET	120.71	16658	0.03%	0.03%	N	12.07	
2	EMPEXEL 25 MG TABLET 15	EMPEXEL	ABBOTT HEALTHCARE PVT. LTD	25 MG	15	TABLET	128.57	1113416	1.88%	1.88%	Y	8.57	8.57
3	EMPALO 25 MG TABLET 10	EMPALO	AJANTA PHARMA LTD	25 MG	10	TABLET	99.29	708533	1.20%	1.20%	Y	9.93	9.93
4	EMPANORM 25 MG TABLET 10	EMPANORM	ALKEM LABORATORIES LTD.	25 MG	10	TABLET	99.29	5419447	9.14%	9.14%	Y	9.93	9.93
5	EXEMPA 25 MG TABLET 15	EXEMPA	ALTEUS BIOGENICS PVT.LTD.	25 MG	15	TABLET	123.96	92722	0.16%	0.16%	N	8.26	
6	ALEMPA 25 MG TABLET 15	ALEMPA	ALTEUS BIOGENICS PVT.LTD.	25 MG	15	TABLET	123.96	79458	0.13%	0.13%	N	8.26	
7	JAREN 25 MG TABLET 10	JAREN	ANTHEM BIOPHARMA PVT LTD	25 MG	10	TABLET	125	21500	0.04%	0.04%	N	12.50	
8	EMPATROL 25 MG TABLET 10	EMPATROL	ARISTO PHARMACEUTICALS PVT.LTD	25 MG	10	TABLET	89.29	590296	1.00%	1.00%	Y	8.93	8.93
9	AUROEMPA 25 MG TABLET 10	AUROEMPA	AUROBINDO PHARMACEUTICALS LTD.	25 MG	10	TABLET	150	25350	0.04%	0.04%	N	15.00	
10	JARDIANCE 25 MG TABLET 10	JARDIANCE	BOEHRINGER INGELHEIM	25 MG	10	TABLET	367.5						
11	EMPADON 25 MG TABLET 10	EMPADON	CADILA PHARMACEUTICALS LTD	25 MG	10	TABLET	107.14	226173	0.38%	0.38%	N	10.71	
12	OBORAVO 25 MG TABLET 10	OBORAVO	CIPLA LTD.	25 MG	10	TABLET	466.5						
13	EMPASOV 25 MG TABLET 10	EMPASOV	CIPLA LTD.	25 MG	10	TABLET	107.07						
14	EMPABITE 25 MG TABLET 10	EMPABITE	CORONA	25 MG	10	TABLET	70.71	1615299	2.73%	2.73%	Y	7.07	7.07
15	VICRA 25 MG TABLET 10	VICRA	DR. REDDYS LABORATORIES LTD	25 MG	10	TABLET	128.57	464781	0.78%	0.78%	N	12.86	
16	EZYEMPA 25 MG TABLET 10	EZYEMPA	EDOC LIFE SCIENCES	25 MG	10	TABLET	92.14	21284	0.04%	0.04%	N	9.21	
17	ELIEMPA 25 MG TABLET 10	ELIEMPA	ELICAD PHARMACEUTICALS PVT LTD	25 MG	10	TABLET	64.29	37931	0.06%	0.06%	N	6.43	
18	EMPASAGE 25 MG TABLET 10	EMPASAGE	ELINOR PHARMA	25 MG	10	TABLET	110.71	40409	0.07%	0.07%	N	11.07	
19	EMPRI 25 MG TABLET 10	EMPRI	EMCURE PHARMACEUTICALS LTD	25 MG	10	TABLET	92.86	729137	1.23%	1.23%	Y	9.29	9.29
20	EMPAJUST 25 MG TABLET 10	EMPAJUST	ERINYLE PHARMA	25 MG	10	TABLET	92.86	112361	0.19%	0.19%	N	9.29	
21	JARDIX 25 MG TABLET 10	JARDIX	ERIS LIFESCIENCES LTD	25 MG	10	TABLET	100	1975100	3.33%	3.33%	Y	10.00	10.00
22	GLEMPA 25 MG TABLET 10	GLEMPA	GLENMARK PHARMACEUTICALS LTD.	25 MG	10	TABLET	100	1409000	2.38%	2.38%	Y	10.00	10.00
23	EMPATRU 25 MG TABLET 10	EMPATRU	HBC LIFESCIENCES PVT LTD	25 MG	10	TABLET	70.71	86903	0.15%	0.15%	N	7.07	
24	EMPANEO 25 MG TABLET 10	EMPANEO	INTAS PHARMACEUTICALS LTD	25 MG	10	TABLET	85	6212565	10.48%	10.48%	Y	8.50	8.50
25	EMPHA 25 MG TABLET 10	EMPHA	INTAS PHARMACEUTICALS LTD	25 MG	10	TABLET	85	4671515	7.88%	7.88%	Y	8.50	8.50

26	EMNORM 25 MG TABLET 10	EMNORM	IPCA LABORATORIES PVT LTD.	25 MG	10	TABLET	107.14	308028	0.52%	0.52%	N	10.71	
27	EMPASHIELD 25 MG TABLET 10	EMPASHIELD	LA RENON HEALTHCARE PVT.LTD	25 MG	10	TABLET	106.43	816850	1.38%	1.38%	Y	10.64	10.64
28	EMPADUS 25 MG TABLET 10	EMPADUS	LIVIDUS PHARMA PVT LTD	25 MG	10	TABLET	78.57	35592	0.06%	0.06%	N	7.86	
29	EMPADOZ 25 MG TABLET 10	EMPADOZ	LLOYD HEALTHCARE PVT.LTD	25 MG	10	TABLET	113.58	391510	0.66%	0.66%	N	11.36	
30	GIBTULIO 25 MG TABLET 10	GIBTULIO	LUPIN LTD	25 MG	10	TABLET	127.5						
31	EMPAHOPE 25 MG TABLET 10	EMPAHOPE	MACLEODS PHARMACEUTICALS PVT.LT	25 MG	10	TABLET	66.07	979356	1.65%	1.65%	Y	6.61	6.61
32	EMPAJOY 25 MG TABLET 10	EMPAJOY	MACLEODS PHARMACEUTICALS PVT.LT	25 MG	10	TABLET	66.07	1095308	1.85%	1.85%	Y	6.61	6.61
33	EMPAGLYDE 25 MG TABLET 10	EMPAGLYDE	MANKIND PHARMACEUTICALS LTD.	25 MG	10	TABLET	70.71	2473294	4.17%	4.17%	Y	7.07	7.07
34	EMPAGREAT 25 MG TABLET 10	EMPAGREAT	MANKIND PHARMACEUTICALS LTD.	25 MG	10	TABLET	70.71	7032958	11.87%	11.87%	Y	7.07	7.07
35	EMPAPRO 25 MG TABLET 10	EMPAPRO	MICRO LABS LTD	25 MG	10	TABLET	83.57	997993	1.68%	1.68%	Y	8.36	8.36
36	EMPAONE 25 MG TABLET 10	EMPAONE	MSN LABORATORIES LTD	25 MG	10	TABLET	117.86	8742919	14.75%	14.75%	Y	11.79	11.79
37	EMPARIO 25 MG TABLET 10	EMPARIO	TALENT INDIA	25 MG	10	TABLET	89.29	220457	0.37%	0.37%	N	8.93	
38	EMPIXA 25 MG TABLET 10	EMPIXA	TAS MED (INDIA) PRIVATE LTD.	25 MG	10	TABLET	70.71	2051	0.00%	0.00%	N	7.07	
39	EMPADOT 25 MG TABLET 10	EMPADOT	THREE DOTS LIFESCIENCE	25 MG	10	TABLET	100	7900	0.01%	0.01%	N	10.00	
40	MYEMPA 25 MG TABLET 10	MYEMPA	THYONE HEALTH CARE	25 MG	10	TABLET	89.29	39109	0.07%	0.07%	N	8.93	
41	COSPFAQ 25 MG TABLET 10	COSPFAQ	TORRENT PHARMACEUTICALS LTD.	25 MG	10	TABLET	107.14						
42	EMPAZIO 25 MG TABLET 10	EMPAZIO	TORRENT PHARMACEUTICALS LTD.	25 MG	10	TABLET	107.14						
43	EMPASON 25 MG TABLET 10	EMPASON	UNISON PHARMACEUTICALS	25 MG	10	TABLET	39.29	16502	0.03%	0.03%	N	3.93	
44	XENIA 25 MG TABLET 10	XENIA	USV PVT LTD	25 MG	10	TABLET	117.07	6167131	10.41%	10.41%	Y	11.71	11.71
45	EMPAGLYN 25 MG TABLET 10	EMPAGLYN	ZYDUS HEALTHCARE LTD.	25 MG	10	TABLET	121.43	4267657	7.20%	7.20%	Y	12.14	12.14
		Rs. Per tablet											
	Worked out Retail Price	10.54	Excluding GST										

Note: In view of DPCO Amendment Vide S.O. No. 2165(E) dated 11.05.2023, Patent Holder of Empagliflozin i.e. Boehringer Ingelheim and License Holder i.e. Cipla Ltd., Lupin Ltd. & Torrent Pharmaceuticals Ltd. have not been considered for price fixation.

Computation of Retail Price based on June 2025 Data under Para 5 of DPCO, 2013

Empagliflozin 25 mg + Metformin Hydrochloride 1000 mg	Number of Companies consisting of Market Share of 1% & Above									9
	Sum of MAT value considered for price calculation (in Lakhs)									38.99
	Sum of PTR per unit considered for price calculation									107.50
	Number of Packs considered									9
	Average PTR									11.94
	Add : 16% Retailer Margin									1.91
	Retail Price (without local taxes)									13.85
% Reduction with compared to Highest Price									15.97%	

Minimum Price (Rs.)			9.21
Maximum Price (Rs.)			14.21
Average of all considered (Rs.)			11.94
Retail Price (Rs.)			13.85

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	38,99,264	100%	M3			
								MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
1	EMPEXEL M SR 25/1000 MG TABLET 15	EMPEXEL M SR	ABBOTT HEALTHCARE PVT. LTD	25/1000 MG	15	TABLET	203.57	43971	1.13%	1.13%	Y	13.57	13.57
2	EMPANORM M 25/1000 MG TABLET 10	EMPANORM M	ALKEM LABORATORIES LTD.	25/1000 MG	10	TABLET	113.57	837465	21.48%	21.48%	Y	11.36	11.36
3	EMPATROL M 25/1000 MG TABLET 10	EMPATROL M	ARISTO PHARMACEUTICALS PV	25/1000 MG	10	TABLET	125	75000	1.92%	1.92%	Y	12.50	12.50
4	JARDIX M FORTE 25/1000 MG TABLET 10	JARDIX M	ERIS LIFESCIENCES LTD	25/1000 MG	10	TABLET	114.29	299783	7.69%	7.69%	Y	11.43	11.43
5	EMPHA M 25/1000 MG TABLET 10	EMPHA M	INTAS PHARMACEUTICALS LTD	25/1000 MG	10	TABLET	92.14	817835	20.97%	20.97%	Y	9.21	9.21
6	EMPASHIELD M 25/1000 MG TABLET 10	EMPASHIELD M	LA RENON HEALTHCARE PVT.L	25/1000 MG	10	TABLET	142.14	413912	10.62%	10.62%	Y	14.21	14.21
7	GIBTULIO MET 25/1000 MG TABLET XR 10	GIBTULIO MET	LUPIN LTD	25/1000 MG	10	TABLET XR	139.29						
8	EMPAPRO M 25/1000 MG TABLET 10	EMPAPRO M	MICRO LABS LTD	25/1000 MG	10	TABLET	102.86	82288	2.11%	2.11%	Y	10.29	10.29
9	EMPAONE M ER 25/1000 MG TABLET 10	EMPAONE M ER	MSN LABORATORIES LTD	25/1000 MG	10	TABLET	127.86	518344	13.29%	13.29%	Y	12.79	12.79
10	EMPAZIO M 25/1000 MG TABLET XR 10	EMPAZIO M	TORRENT PHARMACEUTICALS	25/1000 MG	10	TABLET XR	130						
11	COSPIAQ M 25/1000 MG TABLET 10	COSPIAQ M	TORRENT PHARMACEUTICALS	25/1000 MG	10	TABLET	130						
12	COSPIAQ M XR 25/1000 MG TABLET 10	COSPIAQ M XR	TORRENT PHARMACEUTICALS	25/1000 MG	10	TABLET	130						
13	EMPAGLYN M 25/1000 MG TABLET 10	EMPAGLYN M	ZYDUS HEALTHCARE LTD.	25/1000 MG	10	TABLET	121.43	810667	20.79%	20.79%	Y	12.14	12.14
		Rs. Per Tablet											
	Worked out Retail Price	13.85	Excluding GST										

Note: In view of DPCO Amendment Vide S.O. No. 2165(E) dated 11.05.2023, License Holder of Empagliflozin i.e. Lupin Ltd. & Torrent Pharmaceuticals Ltd. have not been considered for price fixation.

Computation of Retail Price based on June 2025 Data under Para 5 of DPCO, 2013

Sitagliptin 100mg	Number of Companies consisting of Market Share of 1% & Above					22
	Sum of MAT value considered for price calculation (in Lakhs)					7,693.94
	Sum of PTR per unit considered for price calculation					268.39
	Number of Packs considered					26
	Average PTR					10.32
	Add : 16% Retailer Margin					1.65
	Retail Price (without local taxes)					11.97
% Reduction with compared to Highest Price						28.48%

Minimum Price (Rs.)			5.64
Maximum Price (Rs.)			14.43
Average of all considered (Rs.)			10.32
Retail Price (Rs.)			11.97

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	87,64,69,741	100%	M3			
								MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
1	VOXYTA 100 MG TABLET 15	VOXYTA	AAGAM LIFE SCIENCES PVT.LTD	100 MG	15	TABLET	192.86	434514	0.05%	0.05%	N	12.86	
2	JANUVIA 100 MG TABLET 7	JANUVIA*	MSD PHARMACEUTICALS PRIVATE LTD.	100 MG	7	TABLET	210.71						
3	SIAGLIDE 100 MG TABLET 15	SIAGLIDE	ABBOTT HEALTHCARE PVT. LTD	100 MG	15	TABLET	216.5	33323019	3.80%	3.80%	Y	14.43	14.43
4	DARTSITA 100 MG TABLET 10	DARTSITA	ADDII BIOTECH PVT.LTD	100 MG	10	TABLET	92.46	197679	0.02%	0.02%	N	9.25	
5	SITAMAX 100 MG TABLET 10	SITAMAX	AJANTA PHARMA LTD	100 MG	10	TABLET	110.36	7198342	0.82%	0.82%	N	11.04	
6	SITAPRIL 100 MG TABLET 10	SITAPRIL	AJANTA PHARMA LTD	100 MG	10	TABLET	67.03	286912	0.03%	0.03%	N	6.70	
7	SITAPAZ 100 MG TABLET 10	SITAPAZ	AKESISS PHARMA (P) LTD	100 MG	10	TABLET	92.14	1717766	0.20%	0.20%	N	9.21	
8	SITALEMBIC 100 MG TABLET 15	SITALEMBIC	ALEMBIC LTD	100 MG	15	TABLET	163.22	21092237	2.41%	2.41%	Y	10.88	10.88
9	ALSITA 100 MG TABLET 10	ALSITA	ALKEM LABORATORIES LTD.	100 MG	10	TABLET	84.29	38596039	4.40%	4.40%	Y	8.43	8.43
10	SITALIVE 100 MG TABLET 10	SITALIVE	ALLYSIA LIFESCIENCES PVT.LTD	100 MG	10	TABLET	107.14	638019	0.07%	0.07%	N	10.71	
11	SITALONG 100 MG TABLET 15	SITALONG	ALTEUS BIOGENICS PVT.LTD.	100 MG	15	TABLET	150	3519600	0.40%	0.40%	N	10.00	
12	SITAGLIP 100 MG TABLET 10	SITAGLIP	ANTHEM BIOPHARMA PVT LTD	100 MG	10	TABLET	107.14	3402124	0.39%	0.39%	N	10.71	
13	SIDIA 100 MG TABLET 10	SIDIA	APRICA HEALTHCARE PVT LTD	100 MG	10	TABLET	117.86	5130210	0.59%	0.59%	N	11.79	
14	SITAGLO 100 MG TABLET 15	SITAGLO	ARISTO PHARMACEUTICALS PVT.LTD	100 MG	15	TABLET	171.43	38324719	4.37%	4.37%	Y	11.43	11.43
15	SITABETIC 100 MG TABLET 15	SITABETIC	ARKAS PHARMA PRIVATE LIMITED	100 MG	15	TABLET	170.67	370183	0.04%	0.04%	N	11.38	
16	SITABEND 100 MG TABLET 10	SITABEND	BAL PHARMA	100 MG	10	TABLET	94.29	45987	0.01%	0.01%	N	9.43	
17	KYGLIP 100 MG TABLET 15	KYGLIP	BLUE CROSS LABORATORIES LTD	100 MG	15	TABLET	64.29	463917	0.05%	0.05%	N	4.29	
18	SITAPIL 100 MG TABLET 10	SITAPIL	CADELL HEALTH CARE PVT.LTD	100 MG	10	TABLET	142.14	283427	0.03%	0.03%	N	14.21	
19	SITENALI 100 MG TABLET 15	SITENALI	CADILA PHARMACEUTICALS LTD	100 MG	15	TABLET	158.36	819671	0.09%	0.09%	N	10.56	
20	JANKEY 100 MG TABLET 15	JANKEY	CADILA PHARMACEUTICALS LTD	100 MG	15	TABLET	158.36	1253419	0.14%	0.14%	N	10.56	
21	SITACIP 100 MG TABLET 10	SITACIP	CIPLA LTD.	100 MG	10	TABLET	101.36	33372107	3.81%	3.81%	Y	10.14	10.14
22	SITABITE 100 MG TABLET 10	SITABITE	CORONA	100 MG	10	TABLET	85.54	29256181	3.34%	3.34%	Y	8.55	8.55
23	STIG 100 MG TABLET 15	STIG	DR. REDDYS LABORATORIES LTD	100 MG	15	TABLET	142.5	12973775	1.48%	1.48%	Y	9.50	9.50
24	SITABET 100 MG TABLET 7	SITABET	EAST WEST PHARMA	100 MG	7	TABLET	88	244288	0.03%	0.03%	N	12.57	
25	SITASTAR 100 MG TABLET 7	SITASTAR	EKARD LIFE SCIENCES PVT.LTD	100 MG	7	TABLET	60	256800	0.03%	0.03%	N	8.57	
26	SITADOC 100 MG TABLET 15	SITADOC	ELBRIT LIFE SCIENCES PVT.LTD	100 MG	15	TABLET	150	2061150	0.24%	0.24%	N	10.00	

27	SITADYL 100 MG TABLET 10	SITADYL	ELINOR PHARMA	100 MG	10	TABLET	135.71	2140182	0.24%	0.24%	N	13.57	
28	EMSITA 100 MG TABLET 10	EMSITA	EMCURE PHARMACEUTICALS LTD	100 MG	10	TABLET	117.64	13366022	1.52%	1.52%	Y	11.76	11.76
29	SITASHINE 100 MG TABLET 10	SITASHINE	ERINYLE PHARMA	100 MG	10	TABLET	107.14	9499568	1.08%	1.08%	Y	10.71	10.71
30	GLURA 100 MG TABLET 10	GLURA	ERIS LIFESCIENCES LTD	100 MG	10	TABLET	129.52	37150557	4.24%	4.24%	Y	12.95	12.95
31	SITARITE 100 MG TABLET 7	SITARITE	ESWAR THERAPEUTICS PVT.LTD	100 MG	7	TABLET	81.43	2915927	0.33%	0.33%	N	11.63	
32	SITDC 100 MG TABLET 10	SITDC	FDC LTD.	100 MG	10	TABLET	67.86	1436936	0.16%	0.16%	N	6.79	
33	SITGLYPT 100 MG TABLET 15	SITGLYPT	FINECURE PHARMACEUTICALS	100 MG	15	TABLET	95.36	410429	0.05%	0.05%	N	6.36	
34	CTASORIN 100 MG TABLET 10	CTASORIN	FUSION HEALTHCARE PVT LTD	100 MG	10	TABLET	99.29	2208408	0.25%	0.25%	N	9.93	
35	SITAGIX 100 MG TABLET 10	SITAGIX	FUSION HEALTHCARE PVT LTD	100 MG	10	TABLET	99.29	5957	0.00%	0.00%	N	9.93	
36	ISTAGLAD 100 MG TABLET 10	ISTAGLAD	GENIEMED PVT LTD	100 MG	10	TABLET	106.43	1707238	0.19%	0.19%	N	10.64	
37	SITAZIT 100 MG TABLET 10	SITAZIT	GLENMARK PHARMACEUTICALS LTD.	100 MG	10	TABLET	113.22	19224982	2.19%	2.19%	Y	11.32	11.32
38	QSITA 100 MG TABLET 10	QSITA	HBC LIFESCIENCES PVT LTD	100 MG	10	TABLET	69.14	17921291	2.04%	2.04%	Y	6.91	6.91
39	SITASMART 100 MG TABLET 10	SITASMART	HEALING PHARMA INDIA PVT.LTD	100 MG	10	TABLET	68.35	3534925	0.40%	0.40%	N	6.84	
40	SITAZO 100 MG TABLET 10	SITAZO	HETERO HEALTHCARE LTD	100 MG	10	TABLET	82.14	1609040	0.18%	0.18%	N	8.21	
41	SPIKERID 100 MG TABLET 10	SPIKERID	INDCHEMIE HEALTH SPECIALITIES PVT. LTD.	100 MG	10	TABLET	77.14	377755	0.04%	0.04%	N	7.71	
42	SITARA 100 MG TABLET 10	SITARA	INTAS PHARMACEUTICALS LTD	100 MG	10	TABLET	116.25	76177263	8.69%	8.69%	Y	11.63	11.63
43	IGNALIS 100 MG TABLET 10	IGNALIS	INTAS PHARMACEUTICALS LTD	100 MG	10	TABLET	116.25	17074770	1.95%	1.95%	Y	11.63	11.63
44	SUITGLIP 100 MG TABLET 10	SUITGLIP	IPCA LABORATORIES PVT LTD.	100 MG	10	TABLET	94.25	5056230	0.58%	0.58%	N	9.43	
45	JSITA 100 MG TABLET 10	JSITA	JARUN PHARMACEUTICALS	100 MG	10	TABLET	92.14	1253565	0.14%	0.14%	N	9.21	
46	SITACOSE 100 MG TABLET 10	SITACOSE	JB CHEMICALS	100 MG	10	TABLET	85.72	375111	0.04%	0.04%	N	8.57	
47	SITAHENZ 100 MG TABLET 10	SITAHENZ	LA RENON HEALTHCARE PVT.LTD	100 MG	10	TABLET	115.71	38613353	4.41%	4.41%	Y	11.57	11.57
48	SITADUS 100 MG TABLET 10	SITADUS	LIVIDUS PHARMA PVT LTD	100 MG	10	TABLET	100	2789100	0.32%	0.32%	N	10.00	
49	SUGARAY 100 MG TABLET 15	SUGARAY	LLOYD HEALTHCARE PVT.LTD	100 MG	15	TABLET	140.22	8783824	1.00%	1.00%	Y	9.35	9.35
50	LUPISIT 100 MG TABLET 10	LUPISIT	LUPIN LTD	100 MG	10	TABLET	94.25	34667883	3.96%	3.96%	Y	9.43	9.43
51	MACSITA 100 MG TABLET 10	MACSITA	MACLEODS PHARMACEUTICALS PVT.LTD	100 MG	10	TABLET	91.43	16753967	1.91%	1.91%	Y	9.14	9.14
52	SITA OD 100 MG TABLET 10	SITA OD	MACLEODS PHARMACEUTICALS PVT.LTD	100 MG	10	TABLET	91.43	34092065	3.89%	3.89%	Y	9.14	9.14
53	SITACCLASS 100 MG TABLET 10	SITACCLASS	MACLEODS PHARMACEUTICALS PVT.LTD	100 MG	10	TABLET	83.29	3993756	0.46%	0.46%	N	8.33	
54	SITADAY 100 MG TABLET 15	SITADAY	MANKIND PHARMACEUTICALS LTD.	100 MG	15	TABLET	167.36	47471741	5.42%	5.42%	Y	11.16	11.16
55	GLIPTAGREAT SITA 100 MG TAB	GLIPTAGREAT S	MANKIND PHARMACEUTICALS LTD.	100 MG	15	TABLET	167.36	3180	0.00%	0.00%	N	11.16	
56	SITABLESS 100 MG TABLET 15	SITABLESS	MANKIND PHARMACEUTICALS LTD.	100 MG	15	TABLET	163.82	1007329	0.11%	0.11%	N	10.92	
57	CORSITA 100 MG TABLET 10	CORSITA	MEDLEY PHARMACEUTICALS	100 MG	10	TABLET	100.71	3216272	0.37%	0.37%	N	10.07	
58	JOGSITA 100 MG TABLET 10	JOGSITA	MEDOPHARM	100 MG	10	TABLET	110.71	46277	0.01%	0.01%	N	11.07	
59	SITAPRIDE 100 MG TABLET 15	SITAPRIDE	MICRO LABS LTD	100 MG	15	TABLET	127.86	27393877	3.13%	3.13%	Y	8.52	8.52
60	SITANORM 100 MG TABLET 15	SITANORM	MICRO LABS LTD	100 MG	15	TABLET	127.86	16072002	1.83%	1.83%	Y	8.52	8.52
61	SITA (MSN) 100 MG TABLET 10	SITA (MSN)	MSN LABORATORIES LTD	100 MG	10	TABLET	99.29	651641	0.07%	0.07%	N	9.93	
62	SITANAT 100 MG TABLET 10	SITANAT	NATCO PHARMA LTD	100 MG	10	TABLET	113.57	3101483	0.35%	0.35%	N	11.36	
63	SITANEU 100 MG TABLET 15	SITANEU	NEUCURE LIFESCIENCES PVT.LTD	100 MG	15	TABLET	175.61	3199263	0.37%	0.37%	N	11.71	
64	SITEOS 100 MG TABLET 10	SITEOS	NIRVANA HEALTH CARE	100 MG	10	TABLET	85.71	547687	0.06%	0.06%	N	8.57	
65	ZEUSIT 100 MG TABLET 10	ZEUSIT	OPSISCARE LIFESCIENCSE PVT LTD	100 MG	10	TABLET	142.86	1008592	0.12%	0.12%	N	14.29	
66	SITOAHA 100 MG TABLET 10	SITOAHA	ORRIS PHARMACEUTICALS	100 MG	10	TABLET	107.14	58391	0.01%	0.01%	N	10.71	
67	GLIPCRIN 100 MG TABLET 15	GLIPCRIN	PRIMUS REMEDIES PVT LTD	100 MG	15	TABLET	145.89	1780296	0.20%	0.20%	N	9.73	
68	SITASPEC 100 MG TABLET 7	SITASPEC	SPECTRA THERAPEUTICS PVT. LTD.	100 MG	7	TABLET	78.58	2610428	0.30%	0.30%	N	11.23	
69	ISTAVEL 100 MG TABLET 7	ISTAVEL	SUN PHARMA LABORATORIES LTD.	100 MG	7	TABLET	72.86						
70	ISTAVEL 100 MG TABLET 10	ISTAVEL	SUN PHARMA LABORATORIES LTD.	100 MG	10	TABLET	111.43						
71	SITARED 100 MG TABLET 7	SITARED	SUN PHARMA LABORATORIES LTD.	100 MG	7	TABLET	71						
72	SITARED 100 MG TABLET 10	SITARED	SUN PHARMA LABORATORIES LTD.	100 MG	10	TABLET	71						
73	SITABERY 100 MG TABLET 10	SITABERY	SUNBERRY LIFESCIENCES PVT.LTD	100 MG	10	TABLET	57.14	603131	0.07%	0.07%	N	5.71	
74	SITASYS 100 MG TABLET 10	SITASYS	SYSTOPIC LABORATORIES LTD-MEM	100 MG	10	TABLET	56.43	16743063	1.91%	1.91%	Y	5.64	5.64
75	SITALENT 100 MG TABLET 10	SITALENT	TALENT INDIA	100 MG	10	TABLET	99.29	1596774	0.18%	0.18%	N	9.93	

76	SITABEST 100 MG TABLET 10	SITABEST	TAS MED (INDIA) PRIVATE LTD.	100 MG	10	TABLET	102.14	772702	0.09%	0.09%	N	10.21	
77	STALIX 100 MG TABLET 15	STALIX	TORRENT PHARMACEUTICALS LTD.	100 MG	15	TABLET	179.29	42578712	4.86%	4.86%	Y	11.95	11.95
78	SITAXA 100 MG TABLET 15	SITAXA	TORRENT PHARMACEUTICALS LTD.	100 MG	15	TABLET	179.29	73621207	8.40%	8.40%	Y	11.95	11.95
79	SITASON 100 MG TABLET 10	SITASON	UNISON PHARMACEUTICALS	100 MG	10	TABLET	46.43	7202779	0.82%	0.82%	N	4.64	
80	JUAMET 100 MG TABLET 15	JUAMET	VASUCHEM LIFESCIENCES PVT LTD	100 MG	15	TABLET	150	2487000	0.28%	0.28%	N	10.00	
81	SITARON 100 MG TABLET 10	SITARON	WALRON HEALTHCARE PVT.LTD	100 MG	10	TABLET	91.43	3206816	0.37%	0.37%	N	9.14	
82	SITAWOK 100 MG TABLET 15	SITAWOK	WOCKHARDT LTD	100 MG	15	TABLET	94.14	5134396	0.59%	0.59%	N	6.28	
83	SITASAR 100 MG TABLET 10	SITASAR	WONSET HEALTH CARE PRIVATE LIMITED	100 MG	10	TABLET	92.86	1587906	0.18%	0.18%	N	9.29	
84	SITAIN 100 MG TABLET 10	SITAIN	XENA CORONUS HEALTH CARE PVT.LTD	100 MG	10	TABLET	106.43	26395	0.00%	0.00%	N	10.64	
85	ZENSITA 100 MG TABLET 10	ZENSITA	ZUVENTUS HEALTHCARE LTD	100 MG	10	TABLET	101.64	5991881	0.68%	0.68%	N	10.16	
86	SIGLYN 100 MG TABLET 10	SIGLYN	ZYDUS HEALTHCARE LTD.	100 MG	10	TABLET	117.5	3096478	0.35%	0.35%	N	11.75	
87	SITAGLYN 100 MG TABLET 10	SITAGLYN	ZYDUS HEALTHCARE LTD.	100 MG	10	TABLET	117.5	15249855	1.74%	1.74%	Y	11.75	11.75
		Rs. Per Tablet											
	Worked out Retail Price	11.97	Excluding GST										

Note: In view of DPCO Amendment Vide S.O. No. 2165(E) dated 11.05.2023, Patent Holder of Sitagliptin i.e. MSD Pharmaceuticals & License holder i.e. Sun Pharma have not been considered for price fixation.
 * This brand has been reported in the name of M/s Abbott Healthcare by Pharmarack in Dec-25 database. However, Form-V in respect of said brand is being filed by MSD Pharmaceuticals Pvt. Ltd. which is the patent holder of Sitagliptin. Therefore, said brand has not been considered for price fixation.

Computation of Retail Price based on June 2025 Data under Para 5 of DPCO, 2013

Sitagliptin 100 mg + Metformin Hydrochloride 1000 mg	Number of Companies consisting of Market Share of 1% & Above					18
	Sum of MAT value considered for price calculation (in Lakhs)					3,612.16
	Sum of PTR per unit considered for price calculation					295.46
	Number of Packs considered					24
	Average PTR					12.31
	Add : 16% Retailer Margin					1.97
	Retail Price (without local taxes)					14.28
% Reduction with compared to Highest Price						28.10%

Minimum Price (Rs.)			9.93
Maximum Price (Rs.)			17.12
Average of all considered (Rs.)			12.31
Retail Price (Rs.)			14.28

S.No.	पैक विवरण Pack Description	छाप BRAND	कंपनी Company	Strength	Pack Size	Unit	PTR	37,05,72,501		100%		M3	
								MAT(Rs.)	SKU wise MAT %	Brandwise MAT (ignoring 0% MAT)	Qualify (Y/N) Y=Yes N=No	Price per unit (Rs.)	Price per unit (Rs.) Considered
1	JANUMET XR CP 100/1000 MG TABLET 14	JANUMET XR CP*	MSD PHARMACEUTICALS PRIVATE LTD.	100/1000 MG	14	TABLET	221.43						
2	SIAGLIDE M OD 100/1000 MG TABLET 15	SIAGLIDE M	ABBOTT HEALTHCARE PVT. LTD	100/1000 MG	15	TABLET	256.81	28345444	7.65%	7.65%	Y	17.12	17.12
3	ACSITA M 100/1000 MG TABLET SR 10	ACSITA M	ACMEDIX PHARMA LLP	100/1000 MG	10	TABLET SR	63.57	177615	0.05%	0.05%	N	6.36	
4	ACOSITA M 100/1000 MG TABLET SR 10	ACOSITA M	ACMEDIX PHARMA LLP	100/1000 MG	10	TABLET SR	63.57	230314	0.06%	0.06%	N	6.36	
5	SITAMAX M 100/1000 MG TABLET 10	SITAMAX M	AJANTA PHARMA LTD	100/1000 MG	10	TABLET	106.43	22137	0.01%	0.01%	N	10.64	
6	SITALEMBIC M 100/1000 MG TABLET SR 15	SITALEMBIC M	ALEMBIC LTD	100/1000 MG	15	TABLET SR	176	10447965	2.82%	2.82%	Y	11.73	11.73
7	ALSITA M FORTE 100/1000 MG TABLET 10	ALSITA M	ALKEM LABORATORIES LTD.	100/1000 MG	10	TABLET	119.29	17724002	4.78%	4.78%	Y	11.93	11.93
8	SIDIAMET FORTE 100/1000 MG TABLET XR 15	SIDIAMET	APRICA HEALTHCARE PVT LTD	100/1000 MG	15	TABLET XR	188.57	1020352	0.28%	0.28%	N	12.57	
9	SITAGLO MSR FORTE 100/1000 MG TABLET 15	SITAGLO MSR	ARISTO PHARMACEUTICALS PVT.LTD	100/1000 MG	15	TABLET	148.93	8891270	2.40%	2.40%	Y	9.93	9.93
10	SITAGLO M FORTE 100/1000 MG TABLET 15	SITAGLO M	ARISTO PHARMACEUTICALS PVT.LTD	100/1000 MG	15	TABLET	148.93	4720038	1.27%	1.27%	Y	9.93	9.93
11	SITACIP M 100/1000 MG TABLET 10	SITACIP M	CIPLA LTD.	100/1000 MG	10	TABLET	124.93	19620023	5.29%	5.29%	Y	12.49	12.49
12	SITABITE M 100/1000 MG TABLET SR 10	SITABITE M	CORONA	100/1000 MG	10	TABLET SR	124.93	6038991	1.63%	1.63%	Y	12.49	12.49
13	EMSITA M 100/1000 MG TABLET SR 10	EMSITA M	EMCURE PHARMACEUTICALS LTD	100/1000 MG	10	TABLET SR	149.07	6776573	1.83%	1.83%	Y	14.91	14.91
14	GLURA M FORTE 100/1000 MG TABLET XR 15	GLURA M	ERIS LIFESCIENCES LTD	100/1000 MG	15	TABLET XR	180	16671844	4.50%	4.50%	Y	12.00	12.00
15	CTASORIN M FORTE 100/1000 MG TABLET 10	CTASORIN M	FUSION HEALTHCARE PVT LTD	100/1000 MG	10	TABLET	113.57	1214891	0.33%	0.33%	N	11.36	
16	SITAZIT M 100/1000 MG TABLET ER 10	SITAZIT M	GLENMARK PHARMACEUTICALS LTD.	100/1000 MG	10	TABLET ER	155.71	14629889	3.95%	3.95%	Y	15.57	15.57
17	QSITA M 100/1000 MG TABLET SR 10	QSITA M	HBC LIFESCIENCES PVT LTD	100/1000 MG	10	TABLET SR	85.71	1192826	0.32%	0.63%	N	8.57	
18	QSITA M 100/1000 MG TABLET 15	QSITA M	HBC LIFESCIENCES PVT LTD	100/1000 MG	15	TABLET	141.43	1141906	0.31%	0.63%	N	9.43	
19	SITARA-M 100/1000 MG TABLET 10	SITARA-M	INTAS PHARMACEUTICALS LTD	100/1000 MG	10	TABLET	128.39	35202606	9.50%	9.50%	Y	12.84	12.84
20	IGNALIS M 100/1000 MG TABLET 10	IGNALIS M	INTAS PHARMACEUTICALS LTD	100/1000 MG	10	TABLET	128.39	14748053	3.98%	3.98%	Y	12.84	12.84
21	SUITGLIP M 100/1000 MG TABLET XR 10	SUITGLIP M	IPCA LABORATORIES PVT LTD.	100/1000 MG	10	TABLET XR	113.9	4258265	1.15%	1.15%	Y	11.39	11.39
22	SITAHENZ M OD 100/1000 MG TABLET 10	SITAHENZ M OD	LA RENON HEALTHCARE PVT.LTD	100/1000 MG	10	TABLET	155	36114535	9.75%	9.75%	Y	15.50	15.50
23	SUGARAY M 100/1000 MG TABLET SR 15	SUGARAY M	LLOYD HEALTHCARE PVT.LTD	100/1000 MG	15	TABLET SR	170.37	5549292	1.50%	1.50%	Y	11.36	11.36
24	LUPISIT M 100/1000 MG TABLET XR 10	LUPISIT M	LUPIN LTD	100/1000 MG	10	TABLET XR	113.93	12834748	3.46%	3.46%	Y	11.39	11.39
25	MACSITA M 100/1000 MG TABLET 10	MACSITA M	MACLEODS PHARMACEUTICALS PVT.LTD	100/1000 MG	10	TABLET	102.86	237812	0.06%	1.72%	Y	10.29	10.29
26	SITA OD MSR 100/1000 MG TABLET 10	SITA OD MSR	MACLEODS PHARMACEUTICALS PVT.LTD	100/1000 MG	10	TABLET	102.86	6423607	1.73%	1.73%	Y	10.29	10.29
27	MACSITA M 100/1000 MG TABLET XR 10	MACSITA M	MACLEODS PHARMACEUTICALS PVT.LTD	100/1000 MG	10	TABLET XR	102.86	6146708	1.66%	1.72%	Y	10.29	10.29
28	SITACCLASS M 100/1000 MG TABLET 10	SITACCLASS M	MACLEODS PHARMACEUTICALS PVT.LTD	100/1000 MG	10	TABLET	102.86	233698	0.06%	0.06%	N	10.29	
29	SITABLESS MXR 100/1000 MG TABLET XR 15	SITABLESS MXR	MANKIND PHARMACEUTICALS LTD.	100/1000 MG	15	TABLET XR	159	252492	0.07%	0.07%	N	10.60	
30	SITADAY M XR 100/1000 MG TABLET 15	SITADAY M XR	MANKIND PHARMACEUTICALS LTD.	100/1000 MG	15	TABLET	159	1240200	0.33%	0.33%	N	10.60	
31	CORSITA M 100/1000 MG TABLET 10	CORSITA M	MEDLEY PHARMACEUTICALS	100/1000 MG	10	TABLET	104.29	102100	0.03%	0.03%	N	10.43	
32	SITAPRIDE M 100/1000 MG TABLET 15	SITAPRIDE M	MICRO LABS LTD	100/1000 MG	15	TABLET	149.29	23236242	6.27%	6.27%	Y	9.95	9.95

33	SITANORM M 100/1000 MG TABLET 15	SITANORM M	MICRO LABS LTD	100/1000 MG	15	TABLET	149.29	7588709	2.05%	2.05%	Y	9.95	9.95
34	SITA M 100/1000 MG TABLET 10	SITA M	MSN LABORATORIES LTD	100/1000 MG	10	TABLET	81.57	113448	0.03%	0.03%	N	8.16	
35	ISTAMET XR CP 100/1000 MG TABLET 14	ISTAMET XR CP	SUN PHARMA LABORATORIES LTD.	100/1000 MG	14	TABLET	124.29						
36	SITARED M 100/1000 MG TABLET XR 10	SITARED M	SUN PHARMA LABORATORIES LTD.	100/1000 MG	10	TABLET XR	101.43						
37	ISTAMET XR 100/1000 MG TABLET ER 10	ISTAMET XR	SUN PHARMA LABORATORIES LTD.	100/1000 MG	10	TABLET ER	124.29						
38	STALIX M 100/1000 MG TABLET XR 10	STALIX M	TORRENT PHARMACEUTICALS LTD.	100/1000 MG	10	TABLET XR	132.86	25734593	6.94%	6.94%	Y	13.29	13.29
39	SITAXA M 100/1000 MG TABLET XR 10	SITAXA M	TORRENT PHARMACEUTICALS LTD.	100/1000 MG	10	TABLET XR	132.86	40563391	10.95%	10.95%	Y	13.29	13.29
40	SITARON M 100/1000 MG TABLET XR 10	SITARON M	WALRON HEALTHCARE PVT.LTD	100/1000 MG	10	TABLET XR	120.71	455680	0.12%	0.12%	N	12.07	
41	SITAWOK M 100/1000 MG TABLET XR 15	SITAWOK M	WOCKHARDT LTD	100/1000 MG	15	TABLET XR	139.19	528644	0.14%	0.14%	N	9.28	
42	SIGLYN M 100/1000 MG TABLET ER 10	SIGLYN M	ZYDUS HEALTHCARE LTD.	100/1000 MG	10	TABLET ER	133.57	1246742	0.34%	0.39%	N	13.36	
43	SITAGLYN M 100/1000 MG TABLET 10	SITAGLYN M	ZYDUS HEALTHCARE LTD.	100/1000 MG	10	TABLET	146.93	8711596	2.35%	2.35%	Y	14.69	14.69
44	SIGLYN M 100/1000 MG TABLET 10	SIGLYN M	ZYDUS HEALTHCARE LTD.	100/1000 MG	10	TABLET	133.57	183258	0.05%	0.39%	N	13.36	
		Rs. Per Tablet											
	Worked out Retail Price	14.28	Excluding GST										

Note: In view of DPCO Amendment Vide S.O. No. 2165(E) dated 11.05.2023, Patent Holder of Sitagliptin i.e. MSD Pharmaceuticals & License holder i.e. Sun Pharma have not been considered for price fixation.

* This brand has been reported in the name of M/s Abbott Healthcare by Pharmarack in Dec-25 database. However, Form-V in respect of said brand is being filed by MSD Pharmaceuticals Pvt. Ltd. which is the patent holder of Sitagliptin. Therefore, said brand has not been considered for price fixation.